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Psi left(x0 = A sin(k1*x) + B cos(k1*x)  
Psiright(x)  = C* exp(-k2*x)     , C≡ 1.

We integrate from right to left.  ( B= C=1)     , A = –k2/k1
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c   Barrier Potential integrating from the right psi=c*exp(-k2*x)

c   C=1   psi(left)= A sin(k1*x)+B*cos(k1*x), B=1  , A= -k2/k1

      real k1 ,k2

      complex psi(0:6000)

      data c, e, v0 /1.,.3, 1./

      xi=2.

      xf=-6.

      nstep= 3000

      kp=int(float(nstep)/70.)

      kount=kp

      dx=(xf-xi)/float(nstep)

      k1=sqrt(2.*e)

      k2=sqrt(2.*(v0-e))

      psi(0)=c*exp(-k2*xi)

      psi(1)=c*exp(-k2*(xi+dx))

      print 110 , xi , real(psi(0))

      do 10 i=2,nstep

      x=xi+ dx*float(i)

      psi(i)=2.*psi(i-1)-psi(i-2) -2.*dx**2*(e-v(x-dx,v0))*psi(i-1)

      if(i.eq.kount)then

      print 110, x, real(psi(i))

      kount=kount+kp

      endif

10    continue

110   format(2x,'x,real(psi)=', 2(4x,e11.4))

      stop

      end

      function v(x,v0)

      if(x.lt.0.)v=0.

      if(x.ge.0.)v=v0

      return

      end

